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mEECEﬂXCﬂszﬁ=7
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507.

508.

509.

RRB NTPC STAGE-1 & 2 CBT EXAM.

afz 30 s WA 7 W2 ¥ w uw ww w15
 wera O HEA € A 25 s gm T wm ) 12 e
i wa w6 % fau wifm e w92 wm o wm wm
(A)8 B)10.5 (C)125 ()15

afg 2 W % o 5% #t affw w4 = sl
mmﬁﬁﬂmzﬂﬁmtﬁﬁmmﬁI
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afx 4 sl 96 W Tt dran w2 fea A de o
@ 6 il B 72 W W Fan F e w0 A faen
Ty wim?
(A) 1=
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(B)2 fem
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RRB NTPC STAGE-1 : 04.04.2016, Shifi-2
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518,
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519.
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RRB NTPC STAGE-1 & 2 CBT EXAM.

T —
534. 9.0,2,8,5,3,5,4,1,5,2, 7% mft# (median) 7@ 545. 17/31, 34/62 7= 48/93 %1 LCM 7 =ifa |
D F (A)816/31 (B)80231 (C)91231 (D)804A1
(A)5 (B)6.5 (C)4.5 D)4 546. T HH F UE e S I T AR P W g g
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536. ATF ¥ # 12 A § =1 wwa ¢ ol B 3w = 547. UF GOE e ® w w1 A, v 2 g 1 o
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RRB NTPC STAGE-1 : 04.04.2016, Shift-3
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wm #1 TER A W S g odE s )
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srquA 5 : 3 &1 <A wemsl F e T |
(A)96000  (B)48000  (C) 144000 (D)72000
M mer N @A Zit % s 160 fedt/ga am 200 fs.
Hi/g % A & 7 W 4 afs M, N8 30 fe #fis
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(C) 320 fw.s. (D) 400 .=,

T GHITER frde & el # 78 WER dum # fF 35 7wl
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D)4 L
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ki, 81, 89 7w 51 % W (median) ;Hmﬁqa;mmmﬂ?twﬁ!ﬂ“
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559.

560.

562.

563.

564.

565.

RRB NTPC STAGE-1 & 2CBT EXAM.

5 e @ 10 H % % @ wie W w2
mﬁﬁﬁﬂﬁﬁ{&l?ﬁ%mmiﬂﬂ%ﬁﬁ%ﬁ
wifag |
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(A) 12/43 < 32/67 < 45/81 < 22/55

(B)12/43 < 22/55 < 45/81 < 32/67

(C)12/43 < 32/67 < 22/55 < 45/81

(D) 12/43 < 22/55 < 32/67 < 45/81

% S A 42 | 24 = g B an o W Iee o
O 3 F S A S B S e a2
(A)40 i (B)44 =i (C) 42 =d (D) 48 =
fee W § UF wAofn wd 5 O w s, oft 1w
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RRB NTPC STAGE-1 : 05.04.2016, Shift-1
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RRE NTPC STAGE-1 & 2 CBT EXAM. |

i
587. wit wa fid o fem W W e TR W wn 601, 2cos (0-w/2) + 3sin (0 + w/2) = (3sind + 2 cosp) = 5
{A)a| 1 (B)=m 2 (C)aw 3 (D)=m 4 (A) cosh - sinB (B) sin - cos8 '
588, fFm w6 % 50 YFAR ¥ TieEn 0% T w0 o gl F (C)sind + cosd {D) coth — tand
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RRB NTPC STAGE-1 : 05.04.2016, Shift-3 (A) 1,050 98 (B) 1,150 ¥74
(C) 1,155 w7 (D) 1,200 ¥
o ew e ﬂ‘l-‘ea::-:r25'(:":“}Wj JATA T AT | 608. M cot52° = b, W tan 38° = ?
A00mE (840,000 Wy  ®ybsz €@-b Db
ECISEPﬂDﬂmﬂ m:sqpmnm 609, uf% v% smm w1 wEn (L |d.) aﬁ;ﬂm (B A7)
595. SvF v w1 50% uF & F wewm w1 9w &1 T 36 gﬁ'ﬁmﬁq?mﬂwmﬂm )
by itk B O b
506, TF SO arewE 9re 40 fRaEt w5 dm 125 ¥ am .ﬁrmﬂ’mm#ﬁm '
Ta 60 e w1 4 150 w92 o wiga & = ¢ =fF = (A)5 (B)10 ©)15 D120
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RRB NTPC STAGE-1 & 2 CBT EXAM.

..--"'"'_.’-_-_-_-_
fréw (616-618): frevifea wmet sm fornfifat 2o i
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RRB NTPC STAGE-1 & 2 CBT EXAM.
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